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Sr Questions Answers Choice

1 Ground-nut/peanut cultivation is being done:

A. In hot countries
B. In cold countries
C. In extremely cold countries
D. In warm-humid equatorial
countries

2 In the world, annual production of Soya bean is:
A. 155 million metric tons
B. 100 million metric tons
C. 200 million metric tons
D. 500 million metric tons

3 In the world, largest Soya bean producing country is:
A. India
B. France
C. China
D. United States of America

4 Soya bean crop is cultivated during:
A. Autumn season
B. Winter season
C. Summer season
D. Very cold season

5 Soya bean is called proteins, minerals and vitamin:
A. Major source
B. Not major source
C. Small source
D. Not any source

6 Among vegetable oil crops, Soya bean crop:
A. Has not any importance
B. Has very little importance
C. Has considerable importance
D. Is gaining importance

7 Among vegetable oil producing countries, china:
A. Ranks second
B. Ranks at the top
C. Is not considerable country
D. Is an important country

8 In agriculture economy, vegetable oil crop:
A. Have not any, importance
B. Have considerable importance
C. Have very little importance
D. Have no importance

9 Among vegetable oil exporting countries, United States of America:
A. Is not very big country
B. Is largest country
C. Is a normal country
D. Is not any prominent country

10 Due to fast increase in human population:

A. Vegetable oil demand is
increasing very fast
B. There is no change in vegetable
oil demand
C. Demand of vegetable oil is not
increasing
D. Vegetable oil demand is
increasing slowly

11 In the world, United states of America:

A. Produces maximum vegetable oil
among nations
B. Not produces vegetable oil
C. Can produce vegetable oil
D. Cannot produce vegetable oil

12 According to medical experts, vegetable oil is better than ghee & butter:
A. For human health
B. Not better for human health
C. Injurious for human health
D. Is suitable for human health

13 At present, seventeen oil seeds are being used:
A. To fulfil the diet of man
B. For getting protein
C. For getting oil
D. For getting vitamins

14 Due to huge population increase by animal means:

A. To fulfil fat demand is not possible
B. Fat demand is easily being fulfilled
C. Fat demand could be easily
fulfilled



14 Due to huge population increase by animal means: fulfilled
D. To fulfil the fat demand will not
possible

15 For rubber plant plantation, which soil is most suitable?

A. Marshy land
B. Sandy soil
C. Clayey soil
D. Red soil with excessive
phosphorus &amp; humus


